. ‘1»!/ Disposal of assets. A company has inventory of 1,000 assorted parts fora line of missiles

Managerial Accounting _
Homework — Decision Making, Budgeting

Benedictine University at Springﬁéldh ' we @/Q E ;‘, _

' that has been-discontinued. The inventory cost is $80,000. S¢ ¢ bCOSf (}VfKZEV&ﬁ%)

Required _ , ' |
The parts can be either (1) remachined at total additional costs of $30,000 and 1
then sold for $35,000 or (2) sold as scrap for $2,000. KWhich action is moreH pmec/y BS@ 29 |

profitable? Show your calculations. R 2 levernt K @Vi 55,000 gm_;ﬁoaﬂ,m ‘

ot (OSF 30,000 o
Relevant COSE 20800 —1—=ry

2/ Disposal of assets. A truck costing $100,000 and uninsured, is wrecked its first day in use. -

: ﬁ/.Inventbry decision, opportunity costs. Lawnox, a manufacturer of lawn mowers, predicts

. Required o S ' :
It can be either (1) disposed of for $10,000 cashr and replaced with a similar truck
costing $102,000 or (2) rebuilt for $85,000, and thus be brand-new as far as A )
operating characteristics and looks are concerned. Which action is less costl Doslesstr,

Show your caloulations. e (event Rev . 10,500
o - ‘Qelevewt OV, 1021000
riet

33,00 0 - M@ﬁ/éﬁ;ﬁia l

AR

that 240,000 spark plugs will have to be purchased next year. Lawnox estimates that 20,000
spark plugs will be required each month.. A supplier quotes a price of'$8 per spark plug. The
supplier also offers a special discount option: If.all 240,000, spark plugs are purchased at the

* start of the year, a discount of 5% off the $8 price will be given. Lawnox can invest its cash
~ at 8% per year. It‘costs Lawnox $200 to place each purchase order. ' '

Required ' : _ S
4. What is the opportunity cost of interest forgone from purchasing all 240,000
units at the start of the year instead of in 12 monthly purchases of 20,000 units
"per order? ) . I - ‘
b, Would this opportunity cost ordinarily be recorded in the accounting system?
- Why? L ' : : .
¢. Should Lawnox purchase 240,000 units at the start of the year of 20,000 units
each month? Show your calculations. , : : :
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election of most profitable pfo‘duct. Body-Builders, Inc., produc'es two. basic types of
) weightlifting equipment, Model 9 and Model 14. Pertinent data are as follows:

Per Unit

Model 9 Model 14

Selling price ~$100.00 -
Costs . ~ '
Direct material ~28.00
Direct manufacturing labor ' 15.00
Variable manufacturing overhead* , 25.00 / 12.50
Fixed manufacturing overhead* 10.00 5.00
Marketing (all variable) C \ 14.00 / 10.00°
" Total cost L 92.00 65.50 &
. Operating income $ 800 :

-

. Reéquired

*Allocated on thé basis of fnachine-\lloﬁrs. @s ' { ) .[»!ii/\ f\u g, ;Q;
) . 3 I VAR Y M
. b MR Ny
o 020 et 7 i

S0,
'/. @lﬁ’%’z‘ ,

N

The weight-lifting craze is such that enough of either Model 9 or Model 14 can be
sold to keep the plant operating at full capacity. Both products are processed

| through the same production departments. Which products should be produced?

Briefly explain your answer.

Opportunity'costs. The Wolverine Corporation is working at full production capacity
producing 10,000 units of a unique product, Rosebo. Manufact'urin-g cost per unit for Rosebo

is.as follows:

Direct material - 8 2
Direct manufacturing labor 3
Manufacturing overhead 5
Total manufacturing cost - § 10

~

Manufacturing. overhead cost per unit is based on variable cost per unit of $2 and fixed costs
~ 0f$30,000 (at full capacity of 10,000 units). Marketing cost, all variable, is $4 per unit, and

the selling price is $20.

" A customer, the Miami-Company, has asked Wolverine to producé 2,000 units of Orangebo,
a modification of Rosebo. Orangebo would require the same manufacturing processes as -
Rosebo. Miami has offered to pay Wolverine $15 for a unit of Orangebo and half the

marketing cost per unit. »
Required

Orangebo? (Assume thatno overtime is worked.)

a. What is the opportunify cost to Wolverine of producing the .’2,00’0"un.it's of

b. The Buckeye Corporation has offered to produce 2,000 units of Rosebo for
Wolverine so that Wolverine may accept the Miami offer. Thatis, if
~Wolverine accepts the Buckeye offer, Wolverine would manufacture 8,000



;’{ 5. (continued) ‘ ‘ v

: units of Rosebo and 2,000 units of Orangebo and purchase 2,000 units of
Rosebo from Buckeye. Buckeye would charge Wolverine $14 per unit to
manufacture Rosebo. On the basis of financial considerations alone, should
Wolverine accept the Buckeye offer? Show your calculations.

c. Suppose Wolverine had been working at less than full capacity, producing
8,000 units of Rosebo at the time the Miami offer was made. Calculate the
minimum price Wolverine should accept for Orangebo under these
conditions. (Ignore the previous $15 selling price.)

‘G/Personal cash budget. At the beginning of the 2006 school year, Abby Dickens decided to
prepare a cash budget for the months of September, October, November, and December. The
. budget must plan for enough cash on December 31 to pay the spring semester tuition, which
- 1s the same as the fall tuition. The following information relates to the budget:

Cash balance, September 1 (from a summer job) : ) $6,000
Purchase season volleyball tickets in September - 180
Additional entertainment for each month 250
Pay fall semester tuition on-September 3 3,250
Pay rent at the beginning of each month _ : 400
Pay for food each month - , 320
Pay apartment deposit on September 2 (to be.returned December 15) =~ 500
Part-time job earnings each month (net of taxes) , 1,000 -
--Required

a. Prepare a cash budget for September October ‘November, and December.
b. Are the budgets prepared as static budgets or flexible budgets9 X
. What are the budget 1mp11cat1ons for Abby‘?

7. Sales and production budgets. Bass Company manufactures two models of speakers DL .
and XL Produotmn and sales data for ‘September 2007 follows:

DL XL
- Estimated iriventory.(units), September 1 ' 350 120
Desired inventory (units), September 30 - o 410 © 100
Expected sales volume (units): : _ ' :
East Region 4,200 © 3,000
- West Region o _ 3,150 2,200
“Unit sales price _ $125.00 $180.00.
Reqmred 155D SZ20L

Based on the product1on and sales data for September 2007, prepare. (a sales
budget and (b) a productlon budget. ’




8. Direct materials purchases budget. Bambi Enterprises is the largest bottler of Sour Sodas
in North America. The company purchases Lemon Sour and Sweet Lemon soda concentrate
from Sulfur Springs Company, dilutes and mixes the concentrate with carbonated water, and
then fills the blended beverage into cans or plastic 2-liter bottles. Assume that the estimated
production for Lemon Sour and Sweet Lemon 2-liter bottles at the Chattanooga, Tennessee,

bottling plant are as follows for the month of August:

Lemon Sour - 178,000 two-liter bottles'
Sweet Lemon 142,000 two-liter bottles

In addition, assume that the concentrate costs $80 per pound for both Lemon Sour and Sweet
Lemon and is used at a rate of 0.2 pound per 100 liters of carbonated water in blending
Lemon Sour and 0.15 pound per 100 liters of carbonated water in blending Sweet Lemon.
Assume that two-liter bottles cost $0.09 per bottle and carbonated water costs $0.04 per liter.

Requlred I -
Compute the cost of a 2 liter bottle of Lemon Sour and Sweet Lemon.

T=93b,000
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I Kim . Murphy f)urchased a 1997 LeBaron Convertible in 2005 for $5,000. Since-

purchasing the car, she has spent the following amounts on parts and Jabor:

Fuel pump 8120

Canvas top 265

Master cylinder 135

Disk brakes 150

. Hoses, plugs 80

Labor - 250
Total $1,000

“Kim is not totally satisfied with the LeBaron. To bring the car to a condition that she
feels it should be, she anticipates the following costs of restoration: '

Rebuilt engine . $700

New paint job ~ 800

Tires 360

New interior 500

* Misc maintenance 340
Total $2,700

In a visit to a used car dealer, Kim found a four-year-old Mitsubishi Eclipse in mint
condition for $7,000. Kim has advertised and found that she can sell the LaBaron for

only $3,000. If she buys the Eclipse, Kim will pay cash, but she would need to sell the .

LeBaron.
Required _. ' ' A _ '

a.  Intrying to decide whether to restore the LeBaron or buy the eclipse, Kim
is distressed because she already has spent $6,000 on the LeBaron. The
investment seems too much to give up. How would you react to Kim’s
concerns? N -

b, List all costs that are relevant to Kim’s decision. What advice would you

give Kim?

o t————— .4—-«vy




Cindy Burnson, the manager of Fondlike Company, was agonizing over an offer for an
order requesting 7,000 boxes of birthday cards. Fondlike was operating at 70 percent of
its capacity and could use the extra business. Unfortunately, the order’s offering price of
$7.75 per box was below the cost to produce the cards. The controller was opposed to
taking a loss on the deal. However, the personnel manager argued in favor of accepting

the order even though a loss would be incurred; it would avoid the problem of layoffs and .

would help maintain the community image of the company. The full cost to produce a
box of birthday cards is presented below: : :

Direct materials $2.00
Direct labor 3.00
Variable overhead 1.50
Fixed overhead . . 250

- Total $9.00

The order is from a customer in a region not ordinarily serviced by the company. No
variable selling or administrative expenses would be associated with the order. Nonunit
level costs are a small percentage of total costs and therefore not considered.

Rei]uired o :
a. 'Assume that the company would accept the order only if it increased.total

profits. ~ Should the company accept or reject the order? Provide
supporting computations.

b, Consider the personnel managet’s concerns.  Discuss the merits of
accepting the order even if it decreased total profits.




minutes. The results of the process are two separate ingredients, Suppressant AB2 and
Suppressant AB3. The suppressants are sold to companies that process them into their
final form. The selling prices are $10 per gallon for AB2 and $25 per gallon for AB3.
The costs to produce 1,000 gallons of each chemical are as follows: .

Chemicals ' $11,000
Direct labor _ 9,000
‘ Overhead ' . 7,000

The suppfessants are bottled in 4-gallon plastic containers and shipped. The cost of each
container is $1.50. Shipping costs $0.20 per container.

Barstow Corporation could process Suppressant AB2 further by mixing it with inert
powders and flavoring to form cough tablets. The tablets can be sold directly to retail
drug stores as a generic brand. If this route is taken, the revenue received per case of

" tablets would be $6.00, with five cases produced by every gallon of Suppressant AB2.
The costs of processing into tablets total $5.00 per gallon of AB2. Packaging costs $2.00-

per case. Shipping costs $0.40 per case.

Required | . - :
a. Should Barstow -sell ‘Suppressant AB2 at split-off or should AB2 be

~ processed and sold as tablets? _ ' _
b.. If Barstow normally sells 360,000 gallons of AB2 per year, what will be

the difference in profits if AB2 is processed further?

U!S £S5 S;t@?@jﬂwi\,ﬂﬂ{,

‘Barstow Corporation buys three chemicals that are processed to produce two popular
ingredients for liquid cough syrups. The three chemicals are in liquid form. The
purchased chemicals are blended for two or three hours and then heated for fifteen -

i




4. Dutson Company manufactures running shoes and tennis shoes. The projected income
statements for the two products are as follows: : ' '

Running Shoes Tennis Shoes

Sales S $450,000 , $750,000
Less: Variable costs (270,000) (300,000)
Contribution margin $180,000 $450,000
Less: Direct fixed expenses ’ (200,000) ' (220,000)
Segment margin $( 20,000) " $230,000
Less: Common fixed costs (allocated) (50,000) (__75.000)

" Net income (loss) ’ $(70,000) . $155,000

The president of the compény is considering dropping the running shoes. Howevef, if the
line is dropped, sales of tennis shoes will drop by 10 percent. There are no significant
" nonunit-level activity costs. -

Required : S _ : _
Ca Should the company drop or keep the line of running shoes? Provide -

supporting computations. . _
b. Assume that increasing the advertising budget by $20,000 will increase
sales of running shoes by 5 percent and tennis shoes by 3 percent. ‘Should

advertising be increased?




SST%WWJ‘WQJ - -  

" Switzer Company is currently manufacturing Part 67Y, producing 5,000 units annually.

Required

The part is used in the production of several products made by Switzer. The. cost per unit

for 67Y is as follows:

" Direct materials $3.00
- Direct labor _ ‘ 2.00
Variable overhead ' 1.00
Fixed overhead _1.50

Total $7.50
Of the total fixed overhead assigned to 76Y, $1,500 is direct fixed overhead and the
remainder is common fixed overhead. An outside supplier has offered to sell the part to
Switzer for $7.05. There is no alternative use for the facilities currently used to produce
the part. There are no significant nonunit-based overhead costs.

a. Should Switzer Company make or buy Part 67Y? }
b. . What is the most Switzer would be willing to pay to an outside supplier?




6.  Beltz Company is cbnsidéring the replacement of a machine that s presently used in the
production of its product. The following data are available: :

: Replacement
Old Equipment "Equipment
Original cost $100,000 $60,000
Useful life in years . 15 ' T
Current age in years _ 8 ’ 0
Book value = _ $ 45,000 : -
Disposal value now $ 28,000 : -
Disposal value in 7 years - 0 0
Annual cash.operating costs $ 12,000 ° $ 9,000
" Required

Ignoring income taxes, indicate the best alternative for Beltz Company.
Provide computations to support your decision.




My Café specializes in short-order meals and morning and afternoon snack-breaks, Itis
open from 9:00 am until 4:00 pm. An office manager in a nearby high-rise office
building offers the owner a contract to provide her 100 employees with afternoon snack-
breaks for $2.00 each. Each employee would receive a drink and a snack item. The shop

has an ‘ho‘urly capacity of 100 customers.

The owner estimates that the variable costs of the afternoon breaks would be $1.20 each. -

Currently, the afternoon service, starting at 2:00, is running at only 50 percent capacity,
although the moring and noon activities are near capacity. At the present:level of
operations; each meal/snack served is allocated fixed cost of $0.25.

Required o :
Should the offer by accepted? Why or why not? Provide computations to support
your decision. '




’ Accoimting_ Service's, Inc. has offered to do all the billings and collections of Dr.

Anderson, a general practitioner. The annual fee will by $10,000. The service will
replace the part-time bookkeeper who works for $10 an hours, 10 hours a week. Because
these activities will take place away from the office, Dr. Anderson estimates that he will
have one additional hour a week to see patients. Normally, he sees three patients an hour
with an average visit fee of $50. The office is open 50 weeks a year. Since the computer
service will maintain all records in its office, the doctor will no longer need to rent
storage space for the office files. The storage space rents for $200 a month.

Required
Determine whether or not Dr. Anderson should accept the offer to use the
computer service. Support your conclusion with computations.




Clarkson Manufacturing Inc. has just received an offer from, a.supplier to buy 6,000 units .
of a component used in its main product. The component is a gear that is currently
produced internally. The supplier has offered to sell the gear for $44 per unit. Clarkson
is currently using a conventional, unit-based cost system that assigns overhead to jobs on
the basis of direct labor hours. The estimated traditional full cost of producing the gear is

given below:

Direct materials - $20
Direct labor 10
Variable overhead ' _ 10
Fixed overhead 32

Required ‘ _
Determine whether the gear should be produced internally or purchased from the .

supplier. Support your conclusion with proper documentation.




10.  Gray Dentistry Services is part of an HMO that operates in a large metropolitan area.
Currently, Gray has its own dental laboratory to produce porcelain and gold crowns. The
unit costs to produce the crowns are as follows: ‘ '

r

Porcelain  Gold
Raw materials o $ 60 $ 90
Direct labor .20 ' 20
Variable overhead 5 5
Fixed overhead 22 22
Total : $107 - $137
Fixed overhead is detailed as follows:
Salary (supervisor) $30,000
Depreciation - 5,000
Rent (lab facility) = : 20,000

Overhead is applied on the basis of direct labor hours. The rates above were computed |
using 5,500 direct labor hours. There are no sighificant nonunit-level overhead costs.

A local dental laboratory has offered to supply Gray all the crowns it needs. Its price is
$100 for porcelain crowns and $132 for gold crowns; however, the offer is conditional on
supplying both types of crowns — it will not supply just one type for the price indicated.
If the offer is accepted, the equipment used by Gray’s laboratory would be scrapped (it is
“old and has no market value), and the lab facility would be closed. Gray uses 1,500
porcelain crowns and 1,000 gold crowns per year. :

Required _ .
Should Gray continue to make its own crowns or should they be purchased from
the external supplier? Support your conclusion with proper documentation.
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1. JCVP exercises. The Super Donut owns and operates six doughnut outlets in and around
Kansas City. You are given the following corporate budget data for next year.

Revenues B,200/000 = C ) oy .
/ II?{ixed costs (1)'(7)88 gggj C?c/g Z)Oz} Dé\(j)l @/ [/20 DOO

/, Vargble’ costs | 8’ zo% 0000 /’7 % 0}@ )000)&@ / // 70[} f‘s{u }I} J
‘ Variable costs change with respect to the number of doughnuts sold. - B0;000
/
/ Required

o Compute the budgeted operating income for each of the following deviations
j ’7 J 0 Q m }e” @ﬁ from the original budget data (Consider each case mdependently)

, :
H .

" a."A 10% increase in contribution margm holding revenues constant
/ g 0 [‘/”) ) n 0 é A 10% decrease in contribution margin, holding revenues constant —
(R e YA 5% increase in fixed costs 0 00
O( 726,000 N m (A0
/

A 5% decrease in fixed costs C ) _7 0 ,:9
DO €. An 8% increase in units sold — )
) Sy 4 - f An 8% decrease in units sold %DD O [“% 9 g@@OO
| g. A 10% increase in fixed costs and a 10% mcrease in units sold i p(;)
h A 5% increase in fixed costs and a 5% decrease in variable costs. ’r )7

0,0
| |)3‘7 1o
VP exercises. The Doral Company manufactures and sells pens. CurrentlyLW -
units are sold per year at $0.50 per-unit. Fixed costs are $900 000 per year. Vari \"‘Ble costs
are $0.30 per unit. :

Required
Consider each case separately
a. What is the present operating income for a year?
b. What is the present breakeven point in revenues?
Compute the new operating income for each of the following changes:
c. A $0.04 per unit increase in variable costs.
d. A 10% increase in fixed costs and a 10% increase in units sold.
e. A 20% decrease in fixed costs, a 20% decrease in selling price, a 10%
decrease in variable cost per unit, and a 40% increase in units sold.
Compute the new breakeven point in units for each of the following changes: -
f. A 10% increase in fixed costs.
g. A 10% increase in selling price and a $20,000 increase in fixed costs.

W@

p0

0,000



3. CVP analysis, margin of safety. Suppose Lattin Corp.’s breakeven point is revenues of
$1,000,000. Fixed costs are $400,000.

Required
a. Compute the contribution margin percentage.
b. Compute the selling price if variable costs are $12 per umt
c. Suppose 80,000 units are sold. Compute the margin of safety.

@CVP, target income. Teddy Bear Daycare provides daycare for children Mondays through
Fridays. Its monthly variable costs per child are:

Lunch and snacks $100
- Educational supplies 15
Other supplies _25
Total $200

Monthly fixed costs consist of:

Rent $2,000

Utilities 300
Insurance 300
Salaries ‘ 2,500
Miscellaneous __500
Total - $5.600

Téddy Bear charges each parent $600 per child.

~ Required
‘a. Calculate the breakeven point.
b. Teddy Bear’s target operating income is $10,400 per month Compute the
number of children that must be enrolled to achieve the target operatmg
income.

c. Teddy Bear lost its lease and had to move to another building. Monthly rent .
for the new building is $3,000. At the suggestion of parents, Teddy Bear plans
to take children on field trips. Monthly costs of the field trips are $1,000. By
how much should Teddy Bear increase fees: per child to meet the target
operating income of $10,400 per month, assuming the same number of
children as in requirement b?
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5. Actual costing, normal costing. Destin Products uses a job- costing system with two direct-
cost categories (direct materials and direct manufacturing labor) and one manufacturing
overhead cost pool. Destin allocates manufacturing overhead costs using direct
manufacturing labor costs. Destin provides the following information:

}% ‘/, 0 ézgg.t ‘ Budget for ' Aci:dal Results

2004 for 2004

Ditect materials costs ' $1,500,000 $1,450,000
,}}/@(L Direct manufacturing labor costs 1,000, 980,000 7/
b{} f Direct mamifacturing overhead costs <750 000 (’@ 0 l/g {} /(,(/
Requlred MW'L/\J{ , W

a. Compute the actual and budgeted manufacturing overhead rates for 2004. $ 3 L/ & 7

b. During March, the job-cost record for Job 626 contained the followmg REr
information: . machiné

M ﬂﬂéw " Direct materials used $40,000 hour -

@ | irect manufacturing labor costs $30 000 - /{/
%MM W 27 000 10740 T Tl et
Q Cornpute the cost of Job 626 using (1) a ting an (b) normal-costing.
Mgl i
e

BHo0D ; c. At the end of 2004, compute the under- or- overallocated manufacturing
0\?@? [ nder normal costing. Why is there ng under — or gverallocated

ol ' 4overhedetualcost1ng‘? \/U(L/U/ﬁw({\}li”b {fiﬁ
fote | § W of fiscol Uur

6. Actual costing, normal- costmg-Cons1der the following selected cost data for the Plttsburg

For fﬁgﬁéompany for 2004:
Budgeted manufactunng overhead $7,000,000 . }g éﬁ Z ) ‘ O
Budgeted machine-hours 200,000 )
) Actual manufacturing overhead . $6,800,000
l{ﬁiwy{' Actual machme -hours : . 195,000 -
- *: —R&quired

a. Compute the actual and budgeted manufacttmng overhead rates for 2004.
b. During December, the job-cost record for.Job 007 contained the fi llowmg
information: |,000 - - QSO 0D

Direct materials used $75,000 b c ost
- Direct manufacturing labor costs $50 000
Ox ; ﬂ/@ﬂﬁ

~ Compute the cost of Job 007 using (1) actual costing and (b) normal—costmg
c. At the end of 2004, compute the under- or overallocated manufacturing

overhead under normal costing. i ‘ﬂmz\%under or overallocated

overhead under actual costing?,

\ - yw)’m RG’JCC‘ Dm’géi};?f‘i Zﬁ)

T ssr—— 115000 — = ). 7S L0
//000{000 p 55/ 29%3;/&”%22[50@7
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7. ABC, process costing. Parker Company produces mathematical and financial calculators.
Data related to the two products is presented below:

Mathematical Financial
» .

Annual production in units 50,000 100,000
Direct materials costs $150,000 $300,000
Direct manufacturing labor costs $ 50,000 $100,000
Direct manufacturing labor-hours 2,500 5,000
Machine-Hours - 25,000 50,000
Number of production runs 50 . 50
Inspection hours : 1,000 ---500

Both products pass through Department 1 and Department 2. The department’s combined ..
| Totnl LD

manufacturing overhead costs are: _ , . l%/_/[; 4 { g ‘D 2,
y Total 7} Lot Wivy y T
()5 00f100L00 skt
/} i 7 L/ 5 " Machining costs $375,OOO-‘-§‘/Z Ko Rt £ e
° * Setup costs 120,000=% /7,000 f2f e - FT 27 0 ]
Wﬂ\' ' . Iangc:izsn costs 105,000 /‘3“@6,/?},470 Mﬂ w o '
. ' e | g - _ J0S, ¢
, Required 5y, 200 = Lp&’/@@() : : T —— per
Q’ [D/Ca & (a) Co?np!lte the manufacturing overhead cost per unit for each produé@%ﬁmﬁf
. 'l - 9 ComPu?jhejmahﬁfEfGturiﬁg cost ,el’m&l\product. /______ﬁgéj‘ﬁé? P 5_\,‘
b/;"/l&th ' -‘ “*Mﬁﬁ@bg“zf ;\JDM[ q/ 0 75/0@@ m@é&;i
PMT3g900 - 300,000 ~ 2 5 = 5 per LT fhg@r{h 1S~ < 00 |
L eo 100,000 , i A ' é@" vir o Y i |
z\;? sgfs‘%am Sopo0. 57 2Shay )50 T BAP LR i d b &7’ 122 5&/000@
‘ 575270 16278 Cost smoothing or peanut-butter costing. For many years, five former classmates — Steve |

v H (p 0 wodinner at the annual meeting of the American Accounting Association. The details of the bill |
L E @ ¢ most recent dinner at the Seattle Space Needle Restaurant break down as f(_)llows: |

ﬁf' 0 00

= _ 510
500, ) =85, D00 _, 74 . :
ia 3y 700900 Diner 7 :/Eﬁtﬁ | Dessert Drinks Total , ]‘

i / ‘*‘:? )
hopo ' Armstropg 77§27 _ |
13 40 o W |
12 49 ‘ . l
: f |

=7, S:’//I%;ﬂgﬂg .. 2‘11 K . .
(/ %, Poffo 31 |
0 25 @L/O

A e Armstrong, Lola Gonzales, Rex King, Elizabeth Poffo, and Gary Young — have had a reunion 5000 O ’

$24 ' $59
0 27

. “3
OO W oo

T~ Youn 15
1 uﬁﬁw 0= “ ,’E% C&‘g@ | ' 200
0 0% For at feadt the last 10 dinners, King has put the total restaurant bill on his Américan Express
5 card. He then mails the other four a bill for the average cost. They have shared the gratuity
at the restaurant by paying cash. King continued this practice for the Seattle dinner.
However, just before he sent the bill to the other dinners, Young phoned him to complain.
He was livid at Poffo for ordering the steak and lobster entrée (“She always does that!™) and

at Armstrong for having three glasses of imported champagne (“What’s wrong with domestic
beer?”). . v




8. (oontinued) ' -f' . 8 $L’ O
Required 0)/@ rﬁ/%e {?@S ’
a. Why is the average-cost approach in the context of the reunion dinner an

example of cost smoothing or peanut-butter costlng'7
b. Computc the average cost to each of the five diners.. Who is undercharged and

who is overcharged under the average-cost approach? Is Young’s complaint

justified? .
c. Give an example of a dining situation in which King would find it more

. difficult to compute the amount of under ~ or overcosting. How might the
behavior of the diners be affected if each person paid his or her own bill

% : instead of contmum with the average-cost approach
g e Combinins, The bitlor aﬁlﬂw@» 150 ‘V}mé ""'—if’l@g,m..
@rmaps WO% has m |

9. Sales mix, two products The Goldman Company retails two products, a standard and a
deluxe version of a luggage carrier. The budgeted i income statement for next period is as

follows:
Standard : ' pDeluxe
_ Carrier 5 ' + Carrier ' Total
" Units sold 150,000 (]50100 b s ooo/ 50000 309 o
Revenues at $20 and $30 per unit  $3,000,000 $1,500,000 $4,50 0 000 R ]
Variable costs at $14 and $18 ' . |
per unit . 2,100,000 900,000 3,000,000 , ' )
Contribution margins at $6 and ' :
$12 per unit . $ 900,000 / 50,000 3 600,000 1,500,000
. Fixed costs S o 1,200,000
Operating income : : : $ 300,000
Required ‘
a. Compute the breakeven point in units, assuming that the planned salcs m1x is
attained.
b. Compute the breakeven point in units (1) if only standard carriers are. sold and
(2) if only deluxe carriers are sold.
c. Suppose 200,000 units are sold, but only 20,000 of them are deluxe. Compute
the operating income. Compute the breakeven point in units.. Compare your
answer with the answer to requirement . 'What is the major lesson of this I ) |
roblem? m[ Ry :3[ L f]‘
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@1‘ he Ronowski Company has three product lines of belts: A, B, and C, Wlﬂ'l conmbuuon
margms of $3, $2, and $1, respectively. The president foresees sales of 200,000 units in the
coming penod consisting of 20,000 units of A, 100,000 units of B, and 80,000 units of C.

i)& & ‘ {, F - The company’s fixed cos%_;‘}he penodie $/3F f I%?i “2 g;’”'b oo
Hoe

f,",‘ Lin ”g Required’ _J,.r'”) i ﬁc\“ = _2’:3 Y (f?ﬁ K=
A a What is the company’s breakeven pomt in units, assummg that the given sales/)g

3 { 5?”5 Lm;*f ﬁ”& mix i§ maintained? b@&%w
]A\ . If the sales'mix is maintained, what is the total con /JP" margin w. = {pd¥p
Lt R '“"‘H“ of Um‘f* """ 200,000 units are sold? What is the operating income? XL /}” L &l:‘ é‘w Li § Wt{ﬁg
c. What would operating income be if 20,000 units of A, 80, 000 ufits of B; an,g
100,000 units of C were sold? What is the new breakeven point in 2111ts if ™ [ ¥ 5&“@ )

ese relationships ers1stmthe next period? -/
P d FG"‘ 256,00 D) M.,_f’ ’ub;@vg
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_',,,»«- 7" 11. GVP analysis, income taxes. The Bratz Company has fixed costs of $300,000 and a "™, [& nofo
‘/,M‘ ¥ variable-cost percentage of 80%. The company earns net income of $84,000 in 2004. T e/’ L

L *l g.e AN '

et % ” ﬁ‘"‘

g ' equlred

income tax rate is 40% WZ&‘ 3 Z()@‘W
‘*.«,5 f\ Compute (1) operating income, (2) contribution margm, (3) total revenues, an
A {1 . - '

F [ *W’?@f
ALKy PARYS g (4) breakeven revenues. “’"’&f@g@ ‘ ,\1 Uf ¢ ’5:3 ( / C}) | - @_._ ‘
i 1;& i 21 O e
N s d.

\@ sgb\\ ‘{”“512 CVP analysis, income taxes. The Rapid Meal has two restaurants that\are open 24 hours a 5% Ly / gM %ﬂ@
\N ‘m’f.{ﬁq&{' jad”day. Fixed costs for the two restaurants together total $450,000 per year. ‘Service varies :

" :w) (@i’ .from a cup of coffee to full meals. The average sales check per customer i$$8.00. The VC':/I { 7(’5? '*
\f} i Q/ Q © average cost of food and other variable costs for each customer is $3.20. The\mcome taxCﬁ ] A IL}@ MI) @
W\D( ‘i&‘ rate is 30 percent. Target net income is $105,000. ' !
(v }y,000,000 , 7;{_,[60{/,%%?}
\{\ V‘/\D Required }? ' ' Sy
i/’ a. Compute the revenues needed to obtain the target net income. - “; il S
&)y\ {/6 b, How many customers are needed to break even? To earn net income of /X (, mf, e“yj j%i
(Z\p(o% ‘ | Clos 000237 3,750 cCustom ers - y
Compute net income if the numbe of customers is S0,000 e
Iy 506)/000; jﬁé g}m} CLGtorng v S ‘ Net ine & ¢ &
E’:} as @67
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Whlttler Company recently-conducted a market study that revealed three dlfferent
alternatives. U 0 a5 l/C,

Alternative 1:  If advertising expenditures increase by $8, 0 sales will increase from 1,600
units to 1,725 units.

Alternative 2: A price decrease from $4OO per lawn mower to $375 per lawn mower would -

U
M /V increase sales from 1,600 units to 1,900 units.

Alternative 3:  Decreasing prices to $375 and increasing advertising expenditures by $8,000
ﬁ/ol will increase sales from 1,600 units to 2,600 units. .

WM Should Whittier maintain its current price and advertising policies, or should it select one
of the three alternatives described by the marketing study?

Rox 1000 -NOO= (sND,000
g Iuoo . 375 Cﬁzafewj
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Teresa Kerr

Benedictine University at Springfield
Accounting II Managerial Accounting
EXAM ~ Session IT

1. Sweet Sue, Inc. produces particularly rich praline fudge. Each ten-ounce box sells for $5.50.
Variable costs are as follows:

Pecans $0.75
Sugar 0.35
Butter 1.75
Other ingredients 0.24
Box, packing material 0.76
Selling commission 0.55

Fixed overhead cost is $24,000 per year. Fixed selling and administrative costs are
$9,000 per year. Sweet Sue, Inc. sold 35,000 boxes last year.

Required

a. What is the contribution margin per box of praline fudge? What is the
contribution margin ratio?

b. How many boxes must be sold to breakeven? What are the breakeven
sales revenues?

—c. What was Sweet Sue, Inc.’s income before taxes last year?

d. What was the margin of safety?

e. Suppose that Sweet Sue, Inc. raises the price to $6.00 per box, but anticipated
sales will drop to 31,500 boxes. What will be the new breakeven point in
units? Should Sweet Sue raise the price? Explain!

2. Alpha Company and Beta Inc. both use normal costing overhead rates to apply factor
overhead to production. Alpha’s is based on direct labor hours and Beta’s is based on materials

- cost. Budgeted production and cost data for Alpha and Beta are as follows:

. Alpha Beta
Manufacturing overhead $240,000 $300,000
Units 10,000 20,000
Direct labor hours . 6,000 - 7,500
Direct labor cost 60,000 75,000
Material cost $150,000 $400,000

At the end of the year, Alpha Company had incurred overhead of $221,000 and had
produced 9,800 units using 6,100 ($61,000)direct labor hours and materials costing

, $147,000.
Beta Inc. had incurred overhead of $316,500 and had produced 20,500 units using 7,550
(875,500) direct labor hours and materials costing $411,000.

Required
a. Compute the (a) budgeted and (b) actual manufacturing overhead cost rates.
b. What is the job cost of the Alpha Company and Beta Inc. using (a) normal

costing and (b) actual costing?




u

3. J] Motors, Inc. employs 45 sales personnel to market their line of luxury automobiles. The
average car sells for $23,000, and a 6 percent commission is paid to the salesperson.
JJ Motors, Inc. is considering a change to the commission arrangement where the company
Would pay each salesperson a salary of $2,000 per month plus aco m’ussm of 2 ezent ﬁ

Of the sales made by that salesperson.

Required

\/Cm Dlo» ReY or m
FC=-p-

What is the amount of total monthly car sales at which JJ Motors would be

Indifferent as to which plan to select?

e
o
e

4. Crunchy Morsels, Inc. manufactures and sells corn chips. Currently, Crunchy produces only
one type of corn chip. The chips are packaged in 11-ounce bags and sold to retailers for -

$1.50 per bag. The variable costs per bag are as follows:

Com $0.70
Vegetable Oil 0.10
Miscellaneous ingredients 0.03
Selling 0.10

R= Rev§
S BT

%ﬁiﬁﬁiwii

H0,000
-«-""Wﬂ

Fixed manufacturing costs total $300,000 per year. Administrative (fixed) costs total

$100,000.

Required

a. Compute the number of bags of corn chips that must be sold by Crunchy to .,

breakeven?

b. How many bags of corn chips must be sold for Crunchy to earn a before-tax "ﬁ? I j’ ~

profit of $150,0007

c. Assuming a tax rate of 60 percent, how many bags of corn chips must be sold

to earn an after-tax profit of $284,000?

5. Kiltop Company produces a toy dart gun. The projected income statement for the coming

year follows:

Sales $480,000

Less: Variable costs (249,600)
Contribution margin - $230,400

Less: Fixed costs (180.000)
Operating income $ 50,400

Required

a. Compute the contribution margin ratio for the toy gun.

b. How much revenue must Kiltop earn in order to breakeven?

c. What volume of sales must be earned if Kiltop wants to earn an after-tax
income equal to 8 percent of sales? Assume that the tax rate is 34 percent.

B~ .0lpR= R~ 02¢-

J\u\ Loen g Y
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6. Siberian Ski Company recently expanded its manufacturing capacity, which will allow it
to produce up to 15,000 pairs of cross-country skis of the mountaineering model or the
touring model. The sales department assures management that it can sell between 9,000 pairs
and 13,000 pairs of either model this year. Because the models are very sumla1 Siberian Ski

will produce only one of the two models.
Per-Unit (Pair) Data

Mountaineering Touring
Selling price $88.00 $80.00

Variable costs 52.80 52.80

Fixed costs will total $369,600 if the mountaineering model is produced but they will be
Only $316,800 if the touring model is produced. Siberian Ski is subject to a 40% income

tax rate.
Required
,t (/) iﬂ a. If Siberian Ski Company desires an after-tax net income of $24,000, how many
é« ﬁ ﬁ‘ pairs of touring model skis will the company have to sell?
+ < b. Suppose that Siberian Ski Company decided to produce only one model of ski.
J What is the total sales revenue at which Siberian Ski Company would make
2 the same profit or loss regardless of the ski model it decided to produce?
% : c. Ifthe Siberian Ski Company sales department could guarantee the annual sale

of 12,000 pairs of either model, which model would the company produce and
why?

7. Swasey Company has identified the following overhead activities, costs, and activity ‘ {) a 5&53‘(;/

drivers for the coming year: A Qj:j \/3 'H

‘ S
Activity Expected Cost Activity Driver Activity Capacity Cﬁé '&i V{*{:‘ '
Setup costs $60,000 Number of setups 300 ’
Ordering costs 45,000 Number of orders 4,500 Mmu
Machine costs 90,000 Machine hours 18,000 ’
Receiving 25,000 Number of parts 50,000

Assume for simplicity that each activity corresponds to a process. The following two
jobs were completed during the year:

Job 600 Job 700
Direct materials $750 $850
Direct labor (50 hours per job) $600 $600
Units completed 100 50
Number of setups 1 1
Number of orders 4 2
Machine hours 20 40

The company’s normal activity is 4,000 direct labor hours.

Required
Using the ABC system, compute the total unit cost of each job.




tig

8. Thompson Company produces scientific and business calculators. For the coming year,
Thompson expects to sell 200,000 scientific calculators and 100,000 business calculators.
A segmented income statement for the two products is given below:

Scientific Business Total
Sales $5,000,000 $2,000,000 $7,000,000
Less: Variable costs (2,400,000} (__900,000) (3,300,000)
Contribution margin $2,600,000 $1,100,000 $3,700,000
Less: Direct fixed costs ( 1,200,000) (__960.000) (2,160,000)
Segment margin $1,400,000 $ 140,000 $1,540,000
Less: Common fixed costs (__800.,000)
Operating Income $ 740.000

Required
a. Compute the number of scientific calculators and the number of business
calculators that must be sold to breakeven.
b. Compute the number of scientific calculators and the number of business
calculators that must be sold to achieve a $444,000 after tax income. Assume

a 40% tax rate.
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1. The following is a list of different costs of activity inputs:
’ \ a. - Power to operate a drill i, Rental car provided for a client
. _b. - Engine in a lawn mower . j. Amialgam used by a dentist
_c.  Advertising k. Salaries, equipment, and materials for setting up
d:~Sales commissions - ' _production equipment - C : ‘
e. Fuel fora forklift 1. Forms used to file insurance clajims C /
f  Depreciation ona warehouse . - m. Equipment, labor, and parts used to repair and
g. Depreciation ona forkliftused to - maintain production equipment :
remove completed goods _ n. Printing and postage for advertising circulars - .
h. X-ray film used in a radiology o. Salaries, forms, and postage associated with
.department of a hospital ‘ purchasing : '
" Required

1. Classify the costs of acﬁvity'inputs'as Variable (V), Fixgﬂ (F), or Mixed

2. Classify the costs of activity inputs as Direct (D) or Indirect (I) costs.

2. The management of Fernelius Company has decided to develop cost formulas for its
major overhead activities. Fernelius uses a highly automated manufacturing process,
and power usage is considered a major activity. Power costs are a significant '
. manufacturing cost. Cost analysts have decided that power costs are mixed; thus, |
-they must be broken down into their fixed and variable elements so that the cost . S
“behavior of the power usage activity can be properly described. The following data .~
for the past eight quarters have been collected: ‘ , S

Quarter Power Costs Machine Hours

1 - 826,000 2(s00.0 20,000
2 , 38,000 _ 25.000 - -
NG 42500 . - 30,000
4 37,000 : 22,000
5 34,000 21,000
6 29,000- , 18,000
7 36,0000 . 24,000
8 - 40,000 28,000

Required o o -
/ 1. Prepare a scatterplot diagram. Fit a line to the data set; select two

‘ ppoints and determine the cost function for power. e
' \/ Using the High-Low Method, compute the cost function for power.
ink the Least Squares Method of linear regression, compute the cost
ction for power. o . o '
g 4, Compute the expected power costs for 33,000, _29,000, and 17,500
‘machine hours using each of the three cost functions.” Which cost
function would you recommend? Explain. -
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3. Smith Concrete Company owns ten ready-mix trucks. Bach truck can deliver (on average) o

10,000 cubic yards of concrete per year (considering the truck’s capacity, weather, and .
distance.to each job.) One driver per truck is needed. The labor cost of each driver is $25,000

~ per year. Depreciation on each truck averages $20,000. "Ravv materials (cement, gravel, and

so on) cost about $25 per cgbic yard of éement. | | %@(f S ( 5 -, 00 0 C {92 5 ; i('zg

Required A ‘ - : R
' 1. Prepare a graph for each of the three costs: Truck Drivers’ Wages, Truck
- Depreciation, and Raw Materials. Use the vertical axis for cost and the

.~ horizontal axis for cubic yards of cement. Assume that concrete sales range -
from 0 to 100,000 cubic yards. :

2. Assume that the normal operating range for the company is 80,000 to 90,000

\\\c\ubic yards per year. How would you classify each of the three types of cost? o

O ‘ ‘ ‘ o
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4. Consolidated Minerals (CM) owns the rights to extract minerals from beach sands on Fraser
 Island. CM has costs in three areas:’ - S _

a{q‘/@// '
. a. Paymenttoa mining subcontractor who charges '$80 per ton of beach sand mined and returned to the. ‘
- beach (after processed on the mainland to extract three minerals: ilmenite, rutile, and zircon). - - f
b. Payment of a government mining and environmental tax of $50 per ton of beach sand mined.
“¢. Payment to a barge operator. This operator charges $150,000 per month to transport each batch of
_ beach sand — up to 100 tons per batch per day — to the mainland and then return to Fraser Island (that
s, 0 to 100 tones per day = $150,000 per month; 101 to 200 tons per day = $300,000 per month, andso
on). - A 4
Each barge operates 25 days per month. The $150,000 monthly charge must be paid even if fewer than
100 tones are transported on any day and even if CM requires fewer than 25 days of barge o
! transportation in that month. CM is currently mining 180 tons of beach sands per day for 25 days per
month. ' e T

Required ' - S : S : : A
4. Whatis the variable cost per ton of beach sand mined? What is the fixed cost
_ to CM per month? - - e o
_b.Plota-graph-of.the variable costs and another graph of the fixed costs of CM.
P v,etrhere@*sffa‘.fx?@fvrelevaﬁtwrange“'abﬁﬁ&ébléf‘tO'f‘yburﬂgrapﬁE-.‘7~=~-"Exp1a1n.,....;_: —
C. Wh?c is the unit cost per ton of beach sand mined (a) if 180 tons are mined

eachfday and (b) if 220 tons are mined each day? Explain the difference in the

\ J ~cost figure.




5. FoIIowing is a list of various costs incurred in producing pizzas.

1. Refrigerant used in refrigeration equipment ? '\L
- 2. Straight-line depreciation on the production equipment
3. Packaging - i B ' :
4. Property insurance premiums, $1,500 per month plus $0.005 for each dollar of property over $3,000,000

A

S. Property taxes, $50,000 per year on factory building and equipment - .
6\ Pension cost, $0.50 per employee hour on the job S ‘
7. ‘Hourly wages of inspectors
8. Dough -
9. Hourly wages of machine operators -
10. Janitorial costs, $3,000 per month A
11. Rent on warehouse, $5,000 per month plus $5 per square foot of storage used
12. Tomato paste ' : ‘ . :
13. Eledtricit}\l\costs, $0.08 per kilowatt-hour
14, Salary of plant manager
- 15, Pepperoni

Required . L _
With respectto the production and sale of frozen pizzas, classify each cost as

either Variabl&@, Fixed (F), or Mixed (M).

6. Kalibob Blectronics .Company manufactures 'inajor appliances. It just had its most successful
year because of increase interest in its refrigerators. While preparing the budget for next -
- year, Amnelle Autrey, the comp'any’s controller, compiled these data: ' ‘

Month - Volume in Machine Hours " Electricity Costs

ay o> Csowd
August _ 5,000 ‘ ‘ 53,000 '
Sebtember 4,500 L\’))?) 49,500 -
October .. 4,000 S . 46,000

Novetpber 3,600 7 42,500 :
Deomher SO
“Required- S

1. Using the Least-Square Method of linear regréssion, determine the cost
function describing the above data. - : S

2. Determine (a) the variable electricity cost per machine hour, (b) the monthly

fixed electricity cost, and (c) the total variable electricity costs and fixed

electricity costs for the six-month period. o c > :




7. Edgar Un, CPA, provides tax services in Oconomo. To prepare standard short-form tax
returns, he incurred‘ the following costs for the previous three mo_nths: :

Direct professional labor: - 850 per tax return
Service overhead (included telephone, deprecmuon on equlpment and building, tax forms, ofﬁce supplies,

wages of clerical personnel, and utﬂmes) . -
Jamuary $18,500,a8f | ‘
February 20,000 - v i '
WEF . W
N

March , - 17,000 °

Number of tax returns prepared: January . 850
February - 1,000
March 700

1. Determine the variable and fixed cost components of the-Service Overheagd
account. A~ DD NOFHL8E LAX TeAUM (ASE bn Febmiry
© 2. What would be the estimated total cost per tax return if'Hun’s CPA firm
prepares 825 standard short-form tax returns in April?

w | — e , W\MPOJ

8. Linda Jones, accountant for Golding, Tnc., has decided to estimate the fixed and variable
.. components associated with the company’s repair actlvity * She has collected the following -
- data for the past six months: .J anuary, $800 total repair costs to 10 repair hours; February, 20
repair hours to $1,100 total repait costs; March, 15 repair hours to $900 total repair costs,
April, $900 total repair costs to 12 repair hours; May, $1,050 total repair costs to 18 repan:
hours, and June, 25 repalr hours to $1,250 total repalr costs. '

Repalrs ' _

\ Prepare a scatterplot d1agram P1ck two points and create a cost functlon .
presenting the data points. o

. Using the hi gh—low method, create a cost ﬁmctlon

3 Using the regression method, create a cost function.

_ \V{hj'ch cost function (if any) estimates total repair costs to repair hours.




SO £X o ’
. -3
/0 . ’ ' ' )
| - - ’
\
- ¢ . - i
: . . .







